Esercizi e Casi di studio Conceptual Framework
Caso di Studio Gruppo 1: 

CA2.1 (LO1) (Conceptual Framework—General) Wayne Cooper has some questions regarding the theoretical framework in which IFRS is established. He knows that the IASB has attempted to develop a conceptual framework for accounting theory formulation. Yet, Wayne's supervisors have indicated that these theoretical frameworks have little value in the practical sense (i.e., in the real world). Wayne did notice that accounting rules seem to be established after the fact rather than before. He thought this indicated a lack of theory structure but never really questioned the process at school because he was too busy doing the homework. Wayne feels that some of his anxiety about accounting theory and accounting semantics could be alleviated by identifying the basic concepts and definitions accepted by the profession and considering them in light of his current work. By doing this, he hopes to develop an appropriate connection between theory and practice. Instructions:

a. Help Wayne recognize the purpose of a conceptual framework. 

b. Identify the benefits that arise from a conceptual framework.

Solution Caso di Studio Gruppo 1
(a) A conceptual framework establishes the concepts that underlie financial reporting. A conceptual

framework is a coherent system of concepts that flow from an objective. The objective identifies

the  purpose  of  financial  reporting. The other concepts provide  guidance on  (1)  identifying  the

boundaries of financial reporting (2) selecting the transactions, other events, and circumstances to

be represented. (3) how they should be recognized and measured, and (4) how they should be

summarized and reported. 

A conceptual  framework   is necessary so   that   standard   setting is   useful,   i.e.,   standard   setting

should build on and relate to an established body of concepts and objectives. A well-developed

conceptual framework should enable the IASB to issue more useful and consistent standards in

the future.

(b) Specific benefits that may arise are:

(1) A coherent set of standards and rules should result.

(2) New   and   emerging   practical   problems  should   be   more   quickly   solved   by   reference   to   an

existing framework.

(3) It should increase financial statement users’ understanding of and confidence in financial reporting.

(4) It should enhance comparability among companies’ financial statements.

(5) It should help determine the bounds for judgment in preparing financial statements.

(6) It should provide guidance to the body responsible for establishing accounting standards

(a) A conceptual framework establishes the concepts that underlie financial reporting. A conceptual framework is a coherent system of concepts that flow from an objective. The objective identifies the purpose  of  financial  reporting. The other concepts provide guidance on (1) identifying the boundaries of financial reporting (2) selecting the transactions, other events, and circumstances to be represented. (3) how they should be recognized and measured, and (4) how they should be summarized and reported. A conceptual framework   is necessary so   that   standard   setting is   useful,   i.e.,   standard   setting should build on and relate to an established body of concepts and objectives. A well-developed conceptual framework should enable the IASB to issue more useful and consistent standards in the future.(b) Specific benefits that may arise are:(1) A coherent set of standards and rules should result.(2) New   and   emerging   practical   problems  should   be   more   quickly   solved   by   reference   to   an existing framework.(3) It should increase financial statement users’ understanding of and confidence in financial reporting.(4) It should enhance comparability among companies’ financial statements.(5) It should help determine the bounds for judgment in preparing financial statements.(6) It should provide guidance to the body responsible for establishing accounting standards

Caso di Studio Gruppo 2:
CA2.8 (LO2) (Qualitative Characteristics) Recently, your Uncle Carlos Beltran, who knows that you always have your eye out for a profitable investment, has discussed the possibility of your purchasing some company bonds. He suggests that you may wish to get in on the “ground floor” of this deal. The bonds being issued by Neville AG are 10-year debentures which promise a 40% rate of return. Neville manufactures novelty/party items. You have told Neville that, unless you can take a look at its financial statements, you would not feel comfortable about such an investment. Believing that this is the chance of a lifetime, Uncle Carlos has procured a copy of Neville's most recent, unaudited financial statements which are a year old. These statements were prepared by Mrs. Andy Neville. You peruse these statements, and they are quite impressive. The statement of financial position showed a debt to equity ratio of 0.10 and, for the year shown, the company reported net income of €2,424,240. The financial statements are not shown in comparison with amounts from other years. In addition, no significant note disclosures about inventory valuation, depreciation methods, loan agreements, etc. are available. 

Instructions 

Write a letter to Uncle Carlos explaining why it would be unwise to base an investment decision on the financial statements that he has provided to you. Be sure to explain why these financial statements are neither relevant nor a faithful representation.

Solution Caso di Studio Gruppo 2
Dear Uncle Carlos, I received the information on Neville Corp. and appreciate your interest in sharing this venture with me. However, I think that basing an investment decision on these financial statements would be un wise because they are neither relevant nor a faithful representation. One of the most important characteristics of accounting information is that it is relevant, i.e., it will make a difference in my decision. To be relevant, this information must have predictive value, confirmatory value, or both. Being timely is also important. Because Neville’s financial statements are a year old, they have lost their ability to influence my decision: a lot could have changed in that one year. As indicated, one  element of  relevance  is predictive value. Neville’s accounting information proves irrelevant. Shown without reference to other years’ profitability, it cannot help me predict future profit-ability because I cannot see any trends developing. Closely related to predictive value is confirmatory value. These financial statements do not provide feedback on any strategies which the company may have used to increase profits. These financial statements also are not faithfully presented. In order to be so, their assertions must be verifiable by several independent parties. Because no independent auditor has verified these amounts, there is no way of knowing whether or not they are represented faithfully. For instance, I would like to believe that this company earned €2,424,240, and that it  had a very favorable debt-to-equity ratio. However, unaudited financial statements do not give me any reasonable assurance about these claims. Finally,  the   fact   that   Mrs.   Neville   herself   prepared   these   statements   indicates   a   lack   of   neutrality. Because she is not a disinterested third party, I cannot be sure that she did not prepare the financial statements in favor of her husband’s business. I do appreciate the trouble  you went through  to get me this information. Under the circumstances, however, I do not wish to invest in the Neville bonds and would caution you against doing so. Before you make a decision in this matter, please call me. Sincerely, Your Nephew.

Esercizio Gruppo 3: 

BE2.5 (LO2) Explain how you would decide whether to record each of the following expenditures  as an asset or an expense. Assume all items are material. 

a. Legal fees paid in connection with the purchase of land are €1,500. 

b. Eduardo SA paves the driveway leading to the office building at a cost of €21,000. 

c. A meat market purchases a meat-grinding machine at a cost of €3,500. 

d. On June 30, Monroe and Meno, medical doctors, pay 6 months' office rent to cover the month of July and the next 5 months. 

e. Smith's Hardware pays €9,000 in wages to laborers for construction on a building to be used in the business. 

f. Alvarez's Florists pays wages of €2,100 for November to an employee who serves as driver of their delivery truck.

Solution Esercizio Gruppo 3
a) Should be debited to the Land account,  as  it   is   a   cost   incurred  in acquiring land.

b) As an asset, preferably to a Land Improvements account. The drive way will last for many years, and therefore it should be capitalized and depreciated.

c) Probably an asset, as it will last for a number of years and therefore will contribute to operations of those years.

d) If the fiscal year ends December 31, this will all be an expense of the current year that can be charged to an expense account. If statements are to be prepared on some date before December 31, part of this cost would be expense and part asset. Depending upon the circumstances, the original entry as well as the adjusting entry for statement purposes should take the statement date into account.

e) Should   be   debited   to   the   Building   account; Depreciation Expense during the life of building will include these costs.

f) As an expense, as the service has already been received; the contribution to operations occurred in this period.

Esercizio Gruppo 4 e Gruppo 5 
E.2.3 The Conceptual Framework identifies the qualitative characteristics that make accounting information useful. Presented below are a number of questions related to these qualitative characteristics and underlying constraint.

a. What is the quality of information that enables users to confirm or correct prior expectations?

b. A noted accountant once remarked, “If it becomes accepted or expected that accounting principles are determined or modified in order to secure purposes other than economic measurement, we assume a grave risk that confidence in the credibility of our financial information system will be undermined.” Which qualitative characteristic of accounting information should ensure that such a situation will not occur? (Do not use faithful representation.)

c. Muruyama Group switches from FIFO to average-cost and then back to FIFO over a 2-year period. Which qualitative characteristic of accounting information is not followed?

d. Assume that the profession permits the savings and loan industry to defer losses on investments it sells, because immediate recognition of the loss may have adverse economic consequences on the industry. Which qualitative characteristic of accounting information is not followed? (Do not use relevance or faithful representation.)

e. What are the two fundamental qualities that make accounting information useful for decision-making?

f. Watteau Inc. does not issue its first-quarter report until after the second quarter's results are reported. Which qualitative characteristic of accounting is not followed? (Do not use relevance.)

g. Predictive value is an ingredient of which of the two fundamental qualities that make accounting information useful for decision-making purposes?

h. Duggan, Inc. is the only company in its industry to depreciate its plant assets on a straight-line basis. Which qualitative characteristic of accounting information may not be present?

i. Nadal Company has attempted to determine the replacement cost of its inventory. Three different appraisers arrive at substantially different amounts for this value. The president, nevertheless, decides to report the middle value for external reporting purposes. Which qualitative characteristic of information is lacking in these data? (Do not use reliability or representational faithfulness.)

Solution Gruppo 4 e Gruppo 5
a) Confirmatory Value.

b) Neutrality.

c) Consistency (Comparability).

d) Neutrality.

e) Relevance and Faithful Representation.

f) Timeliness.

g) Relevance.

h) Comparability.

i) Verifiability.

Esercizio Gruppo 6 
BE2.11 (LO2) The following three different transactions relate to materiality. Explain whether you would classify these transactions as material.

a. Blair Co. has reported a positive trend in earnings over the last 3 years. In the current year, it reduces its bad debt expense to ensure another positive earnings year. The impact of this adjustment is equal to 3% of net income.

b. Hindi SE has a gain of €3.1 million on the sale of plant assets and a €3.3 million loss on the sale of investments. It decides to net the gain and loss because the net effect is considered immaterial. Hindi SE's income for the current year was €10 million.

c. Damon SpA expenses all capital equipment under €2,500 on the basis that it is immaterial. The company has followed this practice for a number of years.

Solution Esercizio Gruppo 6

a) Material; although amount is small the change affects the trend.

b) Material; netting obsures the information on the gain and loss.

c) Likely not material; the amount of depreciation expense, if capitalized would not have a significant impact on income.

Practice Problem Gruppo 7

Meadow plc has hired you to review its accounting records prior to the closing of the revenue and expense accounts as of December 31, the end of the current fiscal year. The following information comes to your attention.

1. During the current year, Meadow plc changed its policy in regard to expensing purchases of small tools. In the past, it had expensed these purchases because they amounted to less than 2% of net income. Now, the president has decided that the company should follow a policy of capitalization and subsequent depreciation. It is expected that purchases of small tools will not fluctuate greatly from year to year.

2. The company constructed a warehouse at a cost of £1,000,000. It had been depreciating the asset on a straightline basis over 10 years. In the current year, the controller doubled depreciation expense because the replacement cost of the warehouse had increased significantly.

3. On July 15 of the current year, Meadow plc purchased an undeveloped tract of land at a cost of £320,000. The company spent £80,000 in subdividing the land and getting it ready for sale. An appraisal of the property at the end of the year indicated that the land was now worth £500,000. Although none of the lots were sold, the company recognized revenue of £180,000, less related expenses of £80,000, for a net income on the project of £100,000.

4. For a number of years, the company used the FIFO method for inventory valuation purposes. During the current year, the president noted that all the other companies in the industry had switched to the average-cost method. The company decided not to switch to average-cost because net income would decrease £830,000.

Instructions

State whether or not you agree with the decisions made by Meadow plc. Support your answers with reference, whenever possible, to the generally accepted principles, assumptions, and cost constraint applicable in the circumstances.

Solution Practice Problem Gruppo 7 
1. From the facts, it is difficult to determine whether to agree or disagree. Consistency, of course, is violated in this situation although its violation may not be material. Furthermore, the change of accounting policies regarding the treatment of small tools cannot be judged good or bad but would depend on the circumstances. In this case, it seems that the result will be approximately the same whether the company capitalizes and expenses, or simply expenses each period, since the purchases are fairly uniform. Perhaps from a cost standpoint (expediency), it might be best to continue the present policy rather than become involved in detailed depreciation schedules, assuming that purchases remain fairly uniform. On the other hand, the president may believe there is a significant unrecorded asset that should be shown on the statement of financial position. If such is the case, capitalization and subsequent depreciation would be more appropriate.

2. Disagree. At the present time, accountants do not recognize price level or current value adjustments in the accounts. Hence, unless the controller is proposing use of revaluation accounting for all warehouses, it is misleading to deviate from the historical cost principle because conjecture or opinion can take place. Also, depreciation is not so much a matter of valuation as it is a means of cost allocation. Assets are not depreciated on the basis of a decline in their fair value. Rather, they are depreciated on the basis of a systematic charge of expired cost against revenues.

3. Disagree. The historical cost principle indicates that companies account for assets and liabilities on the basis of cost. If sales value were selected, for example, it would be extremely difficult to establish an appraisal value for the given item without selling it. Note, too, that the revenue recognition principle provides guidance on when revenue should be recognized. Revenue should be recognized when the performance obligation is satisfied. In this case, the revenue was not recognized because the critical event for satisfying the performance obligation, “sale of the land with transfer to the buyer,” had not occurred.

4. From the facts, it is difficult to determine whether to agree or disagree with the president. The president's approach is not a violation of any principle. Consistency requires that accounting entities give accountable events the same accounting treatment from period to period for a given business enterprise. It says nothing concerning consistency of accounting principles among business enterprises. From a comparability viewpoint, it might be useful to report the information on an average-cost basis. But, as indicated above, there is no requirement to do so.

